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QUESTION 1

After defining a pricing dimension structure for a customer, you must define a pricing dimension structure instance.
Which two attributes on the structure instance are inheritedfrom the structure definition?

A. Wether Dynamic Combination Creation Allowed is enabled
B. The value sets

C. The Query Required option

D. The Displayed option

E. The shape: Same nunmber of segments and order

Correct Answer: BE

QUESTION 2

You define a Performance Obligation Identification Rule that uses the followingmatching attribute to group source
document lines:

Extensible Line Character Attribute 7

Based on the data displayed:

Bill To Customer Heference Extensible Line Character Attribute 7 [Extensible Line Character Antribute 8 |
73944491 Waiianly 490275
73545591 Device A 490276
F194591 Device A 490277
fibanil Lsice B 4902 /8
73946591 Data Plan Standard 490279
7194691 Data Plan PMatinum 490280

How many performance obligations will be created In Revenue Management?
A.6
B. 4
C.5
D.3

Correct Answer: D

QUESTION 3

Revenue tracks several amounts associated to a customer contract, for example, selling amount, allocated amount, and
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billed amount.What is allocated amount?

A. stand-alone selling price assigned to the promised detail line
B. transaction price distributed to each performance obligation
C. transaction price derived from the source system line import
D. revenue recognized for each performance obligation

Correct Answer: B

QUESTION 4

Which three statements about Effective Periods are true?

A. If effective periods are not defined. Revenue Management uses the General Ledger calendar.

B. Effective Periods are used for standalone selling prices and for creating journal entries.

C. Gaps between periods are not allowed.

D. You cannot have overlapping periods.

E. Effective Periods only define the rage where standalone selling prices ofan item should be effective.

Correct Answer: BDE

QUESTION 5

Which three statements about Effective Periods are true?

A. If effective periods are not defined, Revenue Management uses the General Ledger calendar.

B. Effective Periods are used for standalone selling prices and for creating journal entries.

C. Gaps between periods are not allowed.

D. You cannot have overlapping periods.

E. Effective Periods only define the rage where standalone selling prices of an item should be effective.

Correct Answer: CDE

QUESTION 6

A corporation uses a pricing policy that considers deal size to calculate price per unit forits products. For example:
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Deal Size Price Per Unit
Less than 550,000 $100.00
Maore than 550,000 585.00

Which Price Band Segment Label would be appropriate to use in this case?
A. Amount Band

B. Deal Size Band

C. Set Band

D. Quantity Band

Correct Answer: A

QUESTION 7

65-A business entity (your client) sells a computer, monitor, keyboard, and mouse as a single packageto consumers.
The entity has identified that this bundle is a distinct performance obligation.

How would you configure the Performance Obligation Identification Rule to ensure correct grouping of these items?
A. By defining a grouping rule on the customer class
B. By defining an exclusion rule to exclude customer classes that are "Retail"

C. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain the same value for that attribute

D. By defining an item group and assigning that to the rule

E. By defining a grouping on an extensible line attribute and ensuring that the source lines for the specified items
contain different values for that attribute

Correct Answer: E

QUESTION 8

The predefined Revenue Contract Account Activities report originally had only one output option of spreadsheet.
Which output option can you now also choose to assist In handling a large number of records?

A. HTML

B. PowerPoint

C. Flat File
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D. PDF
Correct Answer: C

Reference: http://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r13/wn/r13-revenue-wn.htm

QUESTION 9

In order to have Revenue Management calculate Observed Standalone Selling Prices, four steps must be completed.
Which twoareNOTincluded in the four step process?

A. Close the previous period.

B. Review the calculated OSSP.

C. Categorize standalone sales by performance obligation.

D. Approve the OSSP by establishing it.

E. Run the Calculate Observed Standalone Selling Prices program.

F. Run Create Accounting.

Correct Answer: CE

QUESTION 10

What is a Performance Obligation?

A. a combination of customer type and product code

B. a product code or SKU

C. a promise to a customer on which either party has acted
D. a promise to a customer

Correct Answer: D

https://docs.oracle.com/cloud/farel12/financialscs_gs/FAIRP/FAIRP2288193.htm#FAIRP24 56627

QUESTION 11

Which configuration component is Source Document TypeNOTconnected to?
A. Revenue Management System Options

B. Performance Obligation Template

C. Contract Identification Rules
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D. Revenue Price Profile
E. Performance Obligation Identification Rules

Correct Answer: D

QUESTION 12

Which two are choices for the Satisfaction Method when defining a Performance Obligationldentification Rule?
A. require complete

B. allow partial

C. allow complete

D. require partial

Correct Answer: AB

https://docs.oracle.com/en/cloud/saas/financials/r13-updatel8a/fafrm/recognize-revenue.htmli#FAFRM2321853

QUESTION 13

If the Contract Identification Rules that you defined for your customer did not group the source data into customer as
expected, how would you resolve the issue?

A. Delete the source data that was imported into Revenue Management and import new source data.
B. Delete the performance obligations from the relevant contracts through the Manage Customer Contracts Ul.

C. Run the Discard Customer Contracts program for the relevant contracts, define a new, higher-priority Contract
Identification Rule, and run The Identify CustomerContracts program again.

D. Delete Contracts from the Manage Customer Contracts Ul.

E. Run the Discard Customer Contracts program for the relevant contracts and run the Identify Customer contracts
program again.

Correct Answer: C

QUESTION 14
Which statement Is True regardingthe Customer Contract Source Data Import Template?
A. Itis a predefined Excel FBDI template.

B. It is a predefined Java FBDI template.
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C. It Is a predefined HTML FBDI template.
D. It is a custom template that you are required to build.

Correct Answer: A

QUESTION 15

After analyzing sales documents for your organization, you conclude that it will be appropriate to group transaction lines
by customer to create contracts In Revenue Management.

Which predefined Contract Identification Rule can be used in this case?
A. Identify Customer Contract Based on Party

B. Identify Customer Contract Based on Source Document Line

C. Identify Customer Contract Based on Source Document

D. Identify Customer Contract Based on Source System

Correct Answer: C

Reference:https://docs.oracle.com/cloud/farel12/financialscs_gs/FAIRP/FAIRP2288193.htm#FAIRP2433444
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